A (- S20F) 2021/11/21 (B) 17:25

2021 £ 11 A 21 8 (A)

BRI AE TT VR bR— FTE IR -

HDCP LR : (58) (%)

f=LA-b:

i 4

&%

g2 FRERE A i B VS GROSS | HDCP | 84
& B |RX WX 42 43 85 17.0, 5.0
261 lufE EHX 43 40 83 8.0 0.00AE
Mz I EBER 37 41 18 3.0 0.0 AE
A | TR BB 49 44 93, 17.0 -1.0 AE
i FR 40 39 79 5.0 -20A%E
66z EJII EA 41 42 83 8.0 -20AE
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I RE HWE 42 40 82/ 50 -3.0
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N #%AH d 44 43 87, 7.0 -3.0
1262 thE & 41 43 84 8.0 -3.0
13 MK EF 41 43 84 7.0 -3.0
1460 B @G 39 43 82 4.0 -3.0
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1642 |#AfE FF0 40 39 19 1.0 -4.0
17 5% ®A 46 43 89 8.00 -4.0
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19 ixE BZ 41 39 80 0.00 -5.0
206 & ERA 43 42 85 2.00 -5.0
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2260 BEH == 48 46 94/ 14.0{ -5.0
2361 | SHW BA 48 46 94/ 16.0/ -5.0
240 HEM EBR 46 47 93] 10.0/ -5.0
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